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QUESTION 1

Which two nodes exchange the create indirect data tunnel request during LTE to UMTS handover? (Choose two.)
A. source MME to target SGW

B. source MME to target SGSN

C. target SGSN to target SGW

D. source MME to source SGW

Correct Answer: CD

QUESTION 2

Which three IEs are supported in Downlink Data Notification as it relates to the Cisco Serving Gateway? (Choose
three.)

A. cause

B. EPS bearer ID
C. ARP

D. recovery

E. originating node
F. bearer contexts

Correct Answer: ABC

QUESTION 3

You are configuring the Cisco ASR 5000 Serving Gateway. You want to configure a reference point between the
eNodeB and the SGW for the user plane and inter-eNodeB path switching during handover. Which option describes
where the interface IP address associates?

A. The address associates to the SGW service.

B. The address associates to the GTPU service.

C. The address associates to the EGTP service.

D. The address associates to the S1U service.

Correct Answer: B
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QUESTION 4

Which two descriptions of GTPP v1 are accurate? (Choose two.)
A. GTP\V' is a Transport protocol on the Ga reference point

B. GTP\\' supports IPv6 address type

C. GTP\\ supports redirection capability

D. GTP\\' supports registration capability

Correct Answer: AC

QUESTION 5

Which parameter provides support of radio resource management by the MME across the S1 interface?
A. RFSP index

B. relative MME capacity

C. GUTI

D. OLD-GUTI

Correct Answer: A
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